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(£(x))", neN

n

V£(x), n dispari

=<mAxv~ n pari

(£(x))* ae]0,+oo]

(£(x))% ae]-o,
af®  a>0, azl
log.f (x), a>0,

senf (x)

cosf (x)

tgf (x)

ctgf(x)

arcsenf (x)

“arccosft (x)

arctgf (x)
senhf (x)
coshf (x)
tghf (x)
settsenhf (x)
settcoshf (x)

setttghf (%)
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a#l

Sia I il campo di esistenza di £(x)
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allora:

{xe I:£(x) 2 0}

{xe I:£(x) > 0}
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%HniﬁﬂW+§LaN
{xeI:f(x)#kw,keZ}
{xe1: |Hmwﬂxvaw
{xeI: -1<f(x)<1l}
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I

I
I
{xeI: £(x) 2 1}

{xeI: -I<f(x) <1}
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c.d.e. di £(x) e J quello di g{(x); si ha:

di

»

»

fix) £ g(x)

(%) g(x)

f(x)/g(x)

(

ANV gix)

INJd

InJd
{xe INJ:g(x)#0}

{xe INJ: £ (x)>0}




